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BIRZEIT UNIVERSITY




Computer Science Department
COMP230  ( Fall 2016/2017 )
Assign # 2   Due Date:Thursday 3/11/2016 by 10:00 pm ( on Ritaj )
Notes:

1. You should include all the steps that you followed to find the answer.

2. The assignment should be submitted by the due date and time ( Late Assignments will not be accepted for any reason ) on Ritaj.
3. The assignments are individual effort and copying the assignment will be treated as a cheating attempt, which may lead to FAILING the course. 
Type an algorithm (pseudo code) to solve each of  the following problems:

1. You want to read the different ages of a group of people until an age of zero is entered.  Based on the ages entered, you should count and print how many of the people are old (above 60), how many are middle-aged (from 30 to 60 (inclusive)), and how many are young (below 30).  You should then print the category (old, middle-aged, young) that are the most in the group (You may assume that you get a different count for each category (no equality)).

2. Assuming the  number of male students at Birzeit university in the year 2014 is 4532 and the number of female students in the same year is 6240.  If the number of male students grows at an annual constant rate of 3.5 percent while the number of female students grows at an annual constant rate of 2.7 percent, write an algorithm that will decide and print the first year when the number of male students at Birzeit university will exceed the number of female students.
VERY IMPORTANT:
Both questions should be answered on the same MS-Word document with your name, id number, and lecture section clearly stated inside.  The name of the assignment file should be ass2_youridnumber_yourlecturesectionnumber ( for example if your student id number is 1151234 and your lecture section is section 4 then the assignment file should be called ass2_1151234_s4 ).
